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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, méhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the development and problems of industrial 

development of India. 

Hkkjr esa vkS|ksfxd fodkl ,oa bldh leL;kvksa dh O;k[;k 

dhft,A 

2. Explain the monetary inflation and rising price 

problems of India. 

Hkkjr dh eqnzk LQhfr vkSj c<+rh dherksa dh leL;kvksa dks 

le>kb,A 

3. What is Globalisation ? Explain the advantages and 

disadvantages of globalisation. 

oS’ohdj.k D;k gS \ oS’ohdj.k ds ykHkksa vkSj gkfu;ksa dks 

le>kb,A 

4. Define economic planning. Discuss the achievements 

and failure of Indian economic planning. 

vkfFkZd fu;kstu dks ifjHkkf”kr dhft,A Hkkjr ds vkfFkZd 

fu;kstu dh miyfC/k;ksa ,oa foQyrkvksa dh O;k[;k dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

Briefly discuss any four of the following : 

fuEufyf[kr essa ls fdUgha pkj ij la{ksi esa ppkZ dhft, % 

1. Explain the concept of Monetary Policy. 

ekSfnzd uhfr dh vo/kkj.kk dks le>kb,A 

2. Why is it important to have industrial policy for the  

development of a nation ? 

,d jk”Vª ds fodkl ds fy, vkS|ksfxd uhfr dk gksuk D;ksa 

egRoiw.kZ gS \ 

3. What is letter of Credit ? 

lk[ki= D;k gS \ 

4. Why our Industries are sick ? 

gekjs m|ksx #X.k D;ksa gSa \ 

5. Explain the purposes of 11th Five Year Plan. 

X;kjgoha iapo”khZ; ;kstuk ds mís’;ksa dh O;k[;k dhft,A 

6. Why disinvestments are made by Indian Govt. ? 

Hkkjr ljdkj }kjk fofuos’k D;ksa fd;k tkrk gS \ 

7. Explain the concept of Balance of Trade. 

O;kikj larqyu dh vo/kkj.kk dks le>kb,A 

8. Explain the organisational structure of WTO. 

fo’o O;kikj laxBu ds laxBu <k¡ps dks le>kb,A 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

1. ........... will have control over the direct investment 

enterprise. 

(a) FDI 

(b) FII 

(c) Portfolio investment  

(d) None of the above 

-----------------
 ls izR;{k fofu;ksx laLFkk ds Åij fu;a=.k gksxkA 

¼v½ FDI 

¼c½ FII 

¼l½ iksVZQksfy;ks fofu;ksx 

¼n½ mi;qZDr esa ls dksbZ ugha 

2. Political instability is a .......... factor for FDI. 

(a) Deterrent 
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(b) Favourable  

(c) No-effect 

(d) None of the above 

jktuhfrd vfLFkjrk FDI ds fy, ,d 
----------------- 

dkjd gSA 

¼v½ vojks/kd 

¼c½ fgrdj 

¼l½ izHkkoghu 

¼n½ mi;qZDr esa ls dksbZ ugha 

3. A Letter of Credit is issued by : 

(a) Importer 

(b) Exporter 

(c) Bank 

(d) None of the above 

,d Letter of Credit fuxZr fd;k tkrk gS % 

¼v½ vk;krd }kjk 

¼c½ fu;kZrd }kjk 

¼l½ cSad }kjk 

¼n½ mi;qZDr esa ls dksbZ ugha 

4. Current Account balance is defined as .......... . 

(a) C A = S I   

(b) C A = Y S   

(c) C A = Y I   

(d) None of the above 
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pkyw [kkrk ‘ks”k dks bl izdkj ifjHkkf”kr fd;k tkrk gS % 

¼v½ C A = S I  

¼c½ C A = Y S  

¼l½ C A = Y I  

¼n½ mi;qZDr esa ls dksbZ ugha 

5. BOP indicates the level of ............ . 

(a) GDP of a country 

(b) Indebtness of a country 

(c) Exchange rates 

(d) None of the above 

Hkqxrku larqyu 
-----------------

 ds Lrj dks n’kkZrk gSA 

¼v½ ,d jk”Vª ds GDP dks 

¼c½ ,d jk”Vª dh _.kxzLrrk dks 

¼l½ fofue; nj dks 

¼n½ mi;qZDr esa ls dksbZ ugha 

Fill in the blanks  : 

fjDr LFkkuksa dh iwfrZ dhft, % 

6. In India the first Five Year Plan started in the  

year ............ . 

Hkkjr esa igyh iapo”khZ; ;kstuk o”kZ 
-----------------

 esa vkjEHk gqbZ FkhA 

7. The Central Bank of a country intervene in the foreign 

exchange market through ........... . 

,d jk”Vª dk dsUnzh; cSad fons’kh fofue; cktkj esa 
----------------- 

ds 

ek/;e ls gLr{ksi djrk gSA 
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8. SDR is known as ........... . 

SDR dks 
----------------- 

dh rjg ls tkuk tkrk gSA 

9. FDI is a major driver of ........... economic growth. 

izR;{k fons’kh fofu;ksx ,d eq[; dkjd gS 
-----------------

 vkfFkZd 

xzksFk dkA 

10. Bank rate is the rate of interest charged by the RBI on 

loans to ........... . 

cSad nj C;kt dh og nj gS tks fd Hkkjrh; fjtoZ cSad }kjk 

-----------------
 _.k nsus ij olwy fd;k tkrk gSA 
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